





IlepBBIN BapuaHT. BTopou BapuaHr.

1) 920000 1) 830000

2) Beraucnurs: 42:7:2=3 2) Berauciuts: 48:6:4= 2
3) 16 3) 14

4) B 13 pas. 4) B 14 pas.

S5) IlepeBectn: 1kB.M= 100KB. M. 5) IlepeBectn: 1kB. M=10000kB.CM.



Tema ypoka: «[loBTopeHune
neneHnsa ctondunkom.
BblyncieHnsa ¢ noMoLUbo
KanbKynatopa»



Llenu ypoka:
- MOBTOPUTb AeNeHne CTONMOUKOM.

- HAYHYUTbCA BbINOJIHATb BbIYUCITIEHNA C
NMOMOLLUBKO KaJlbKYJTATOPA.
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bJes IlackaJjap




B. T. OgHep







NHKeHePHBIN KAJIBKYJIATOP

CITIZEN srp-i75

PROGRAMMABLE SCIENTIFIC CALCULATOR
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23+23+23+23+23=46, 69, 92, 115
23+23====115



YUucno15um5

15+5=20
15:5=3



56:(85:5-(45023-45014))
1.45023-45014=9

2.85:5=17

3.17-9=8

4.56:8=7
OT1BeT:7









*CeroaHsa 4 y3Harn...
*bbINN0 MHTEpPECHO...
*bbINI0 TPyQHO....
A Hay4uncs....

*Y MeHa Nony4nnocs...






